



ON THE INTEGRAL SOLUTIONS OF THE BINARY QUADRATIC

EQUATION $x^2 = 4(k^2 + 1)y^2 + 4^t$, $k, t \geq 0$

M.A.GOPALAN, S.VIDHYALAKSHMI, A.KAVITHA*

Department of Mathematics, Shrimati Indira Gandhi College, Tiruchirappalli, Tamilnadu, India

*** A.KAVITHA**

Author for Correspondence

Article Info:

Article received :06/01/2014

Revised on:17/02/2014

Accepted on:19/02/2014

ABSTRACT

The binary quadratic Diophantine equation represented by $x^2 = 4(k^2 + 1)y^2 + 4^t$, $k, t \geq 0$ is analyzed for its non-zero distinct integer solutions. Employing the lemma of Brahmagupta, infinitely many integral solutions of the above Pell equation are obtained. The recurrence relations on the solutions are also presented. A few interesting relations between the solutions and special number patterns namely, Polygonal numbers are also given. Further employing the integer solutions of the considered Pell equation, a special pattern of Pythagorean triangle is obtained.

Key words: Binary quadratic, Pell equation. Integer solutions

2010 Mathematics subject classification: 11D09

Notations:

$t_{m,n}$ - Polygonal number of rank n with size m

SO_n - Stella octangular number of rank n

J_n - Jacobsthal number of rank n

j_n -Jacobsthal-Lucas number of rank n

KY_n -keynea number of rank n

INTRODUCTION

It is well known that the Pell equation $x^2 - Dy^2 = \pm 1$, ($D > 0$ and square free) has always positive integer solutions. When $N \neq 1$, the Pell equation $x^2 - Dy^2 = N$ may not have any positive integer solutions. For example the equations $x^2 = 3y^2 - 1$ and $x^2 = 7y^2 - 4$ have no positive integer solutions. When k is a positive integer and $D \in \{k^2 \pm 4, k^2 \pm 1\}$, positive integer solutions of the equations $x^2 - Dy^2 = \pm 4$ and $x^2 - Dy^2 = \pm 1$ have been investigated by Jones in [4]. The same or similar equations are investigated in [3,6,9,10]. In [1,2,5,7,8,11,12,13] some specific Pell equation and their integer solutions are considered. In [14], the integer solutions of Pell equation $x^2 - (k^2 + k)y^2 = 2^t$ has been considered. In [15], the Pell equation $x^2 - (k^2 - k)y^2 = 2^t$ is analyzed for the integer solutions.

This communication concerns with the Pell equation $x^2 = 4(k^2 + 1)y^2 + 4^t$ and infinitely many positive integer solutions are obtained. The recurrence relations on the solutions are also given. A few interesting relations between the solutions and special numbers are presented.

2. METHOD OF ANALYSIS

The binary quadratic Diophantine equation representing a hyperbola to be solved for its distinct non-zero integral solutions is

$$x^2 = 4(k^2 + 1)y^2 + 4^t, \quad k, t \geq 0 \quad (1)$$

Let $(X_1, Y_1) = (2^t(2k^2 + 1), 2^t k)$ be the smallest positive integer solution to (1)

$$\text{Consider the Pell's equation of (1) is given by } x^2 = 4(k^2 + 1)y^2 + 1 \quad (2)$$

Let $(\tilde{x}_0, \tilde{y}_0) = (2k^2 + 1, K)$ be the smallest positive integer solution to (2).

Then the general solution $(\tilde{x}_n, \tilde{y}_n)$ to (2) is given by

$$\tilde{x}_n = \frac{f_n}{2}$$

$$\tilde{y}_n = \frac{g_n}{2\sqrt{k^2 + 1}}$$

where

$$f_n = [((2k^2 + 1) + 2k\sqrt{k^2 + 1})^{n+1} + ((2k^2 + 1) - 2k\sqrt{k^2 + 1})^{n+1}]$$

$$g_n = [((2k^2 + 1) + 2k\sqrt{k^2 + 1})^{n+1} - ((2k^2 + 1) - 2k\sqrt{k^2 + 1})^{n+1}]$$

Employing the lemma of Brahmagupta between the solutions (X_1, Y_1)

and $(\tilde{x}_n, \tilde{y}_n)$, the general solutions to (1) are given by

$$Y_{n+2} = 2^{t-1} k f_n + 2^{t-2} \frac{(2k^2 + 1)}{\sqrt{k^2 + 1}} g_n \quad (3)$$

$$X_{n+2} = 2^{t-1} (2k^2 + 1) f_n + 2^t k g_n \sqrt{k^2 + 1} \quad (4)$$

where $n = -1, 0, 1, 2, 3, \dots$

The recurrence relations satisfied by (X_{n+2}, Y_{n+2}) are correspondingly exhibited below:

$$X_{n+4} - (4k^2 + 2)X_{n+3} + X_{n+2} = 0 \quad X_1 = 2^t(2k^2 + 1), \quad X_2 = 2t(8k^4 + 8k^2 + 1)$$

$$Y_{n+4} - (4k^2 + 2)Y_{n+3} + Y_{n+2} = 0 \quad Y_1 = 2^t k, \quad Y_2 = 2^{t+1}k(2k^2 + 1)$$

3. Properties

$$(i) X_{n+3} = (2k^2 + 1)X_{n+2} + 4k(k^2 + 1)Y_{n+2}$$

$$(ii) Y_{n+3} = kX_{n+2} + (2k^2 + 1)Y_{n+2}$$

$$(iii) X_{n+4} = (8k^4 + 8k^2 + 1)X_{n+2} + 8k(k^2 + 1)(2k^2 + 1)Y_{n+2}$$

$$(iv) Y_{n+4} = 2k(2k^2 + 1)X_{n+2} + (8k^4 + 8k^2 + 1)Y_{n+2}$$

$$(v) X_{n+4} = (2k^2 + 1)X_{n+3} + 4k(k^2 + 1)Y_{n+3}$$

$$(vi) Y_{n+4} = kX_{n+3} + (2k^2 + 1)Y_{n+3}$$

$$(vii) Y_{n+3}^2 - Y_{n+2}Y_{n+4} = k[X_{n+2}Y_{n+3} - X_{n+3}Y_{n+2}]$$

$$(viii) X_{n+3}Y_{n+3} - X_{n+2}Y_{n+4} = (2k^2 + 1)[X_{n+3}Y_{n+2} - X_{n+2}Y_{n+3}]$$

$$(ix) Y_{n+4} - kX_{n+3} = Y_{n+3}(2t_{4,k} + 1)$$

$$(x) Y_{n+4} - (8k^4 + 8k^2 + 1)Y_{n+2} = X_{n+2}(2SO_k + 4k)$$

$$(xi) (Y_{n+3} - kX_{n+2})^2 = Y_{n+2}^2(8t_{3,k^2} + 1)$$

$$(x) [2(2k^2 + 1)X_{n+2} - 8k(k^2 + 1)Y_{n+1}]^2 - (k^2 + 1)[4(2k^2 + 1)Y_{n+2} - 4kX_{n+2}]^2 \\ = 4(j_{2t} - 1)$$

$$(xi) [2(2k^2 + 1)X_{n+2} - 8k(k^2 + 1)Y_{n+1}]^2 - (k^2 + 1)[4(2k^2 + 1)Y_{n+2} - 4kX_{n+2}]^2 \\ = 4(3J_{2t} + 1)$$

$$(xii) [2(2k^2 + 1)X_{n+2} - 8k(k^2 + 1)Y_{n+1}]^2 - (k^2 + 1)[4(2k^2 + 1)Y_{n+2} - 4kX_{n+2}]^2 \\ = 4(KY_t - j_{t+1}) \text{ when } t \text{ is even}$$

$$(xiii) X_{n+4} - 8k(k^2 + 1)(2k^2 + 1)Y_{n+2} = X_{n+2}(1 + 16t_{3,k^2})$$

(xiv) Each of the following is a nasty number:

$$(a) 6 \left[\frac{kX_{n+4} - k(2k^2 + 1)X_{n+3} + 8k^3Y_{n+3}}{Y_{n+3}} \right]$$

$$(b) 6 \left[\frac{kX_{n+3} - k(2k^2 + 1)X_{n+2} + 8k^3Y_{n+2}}{Y_{n+2}} \right]$$

$$(c) 6 \left[\frac{2Y_{n+4} - 2kX_{n+3} - 2Y_{n+3}}{Y_{n+3}} \right]$$

(xv) For the values of k given by $k = \frac{1}{2\sqrt{2}}[(3+2\sqrt{2})^{n+1} - (3-2\sqrt{2})^{n+1}]$ $n=0,1,2,\dots$

each of the following expressions is a perfect square

$$(a) \frac{Y_{n+4} - kX_{n+3}}{Y_{n+3}}$$

$$(b) \frac{X_{n+4} - 4k(k^2 + 1)Y_{n+3}}{X_{n+3}}$$

$$(c) \frac{Y_{n+3} - kX_{n+2}}{Y_{n+2}}$$

$$(d) \frac{X_{n+3} - 4k(k^2 + 1)Y_{n+2}}{X_{n+2}}$$

4. APPLICATIONS

(I) Define $r = X_{n+2} + \frac{Y_{n+2}}{2}$, $s = \frac{Y_{n+2}}{2}$ where (X_{n+2}, Y_{n+2}) is any solution of (1). Note that r and s are integers and $r > s > 0$. Treat r and s as the generators of the Pythagorean triangle $T(\alpha, \beta, \gamma)$, where $\alpha = 2rs$, $\beta = r^2 - s^2$, $\gamma = r^2 + s^2$. Let A and P represent its area and perimeter respectively. Then this Pythagorean triangle T is such that

$$(i) [8\beta(k^2 + 1) - \alpha - (8k^2 + 7)\gamma] \equiv 0 \pmod{4^t}$$

$$(ii) \gamma - \alpha(8k^2 + 9) + \frac{32A(k^2 + 1)}{P} \equiv 0 \pmod{4^t}$$

(II) Let x and y be taken as the sides of a rectangle R whose length of the diagonal, Perimeter and area are denoted by L, P and A respectively. Note that,

$$(i) [L^2 - (j_{2t} - 1)] - 5y^2 \text{ is a perfect square}$$

$$(ii) P^2 - 8A = 4L^2$$

5. CONCLUSION

To conclude, one may search for other patterns of solutions and their corresponding properties.

6. REFERENCES

- [1]. Goplan.M.A., Vidhyalakshmi.S, Kavitha.A, Observations on the hyperbola $ax^2 - (a+1)y^2 = 3a - 1$, Discovery, Vol.4, no.10, (April-2013.)
- [2]. Goplan.M.A., Vidhyalakshmi.S, Kavitha.A, Observations on the hyperbola $10y^2 - 3x^2 = 13$, Archimedes J.Math., 3(1), 31-34, (2013)
- [3]. Ismail.M.E.H, One Parameter generalizations of the Fibonacci and Lucas Numbers, The Fibonacci Quarterly, Vol.46-47, 167-180, (2009)
- [4]. ones. J.P., Representation of solutions of Pell equations using Lucas sequences, Acta Academia Pead. Agr., Sectio Mathematicae, 30, 75-86, (2003)
- [5]. Kaplan.P and Williams K.S. Pell's equations $x^2 - my^2 = -1, -4$ and continued Fractions, Journal of Number Theory, 23, 169-182, (1986)
- [6]. Keskin.R, Solutions of some quadratic Diophantine equations, Computers and Mathematics with Applications, 60, 2225-2230, (2010)

- [7]. Lenstra.H.W., Solving the Pell equation. Notices of the AMS 49(2), 182-192, (2002)
- [8]. Mathews.K, The Diophantine equation $x^2 - Dy^2 = N$, $D > 0$ Expositiones Math.,18, 323-331, (2000)
- [9]. McDainel.W.L, Diophantine Representation of Lucas sequences, The Fibonacci Quarterly 33, 58-63, (1995)
- [10]. Melham.R, Conics which characterize Certain Lucas sequences, The Fibonacci Quarterly, 35, 248-251, (1997)
- [11]. Tekcan.A, Pell Equation $x^2 - Dy^2 = 2$, Bulletin of the Irish Mathematical Society 54, 73-89, (2004)
- [12]. Tekcan.A Bizim.O and Bayraktar.M, Solving the Pell equation using the fundamental element of the field $\mathbb{Q}(\sqrt{\Delta})$. South East Asian bull of Maths 30, 355-366, (2006)
- [13]. Tekcan.A, The Pell equation $x^2 - Dy^2 = \pm 4$. Applied Mathematical Sciences, 1(8), 363-369, (2007)
- [14]. Tekcan.A, Betul Gezer and Osmon Bizim, On the integer solutions of the Pell Equation $x^2 - dy^2 = 2^t$. World Academy of Science, Engineering and Technology, 1, 522-526, (2007).
- [15]. Tekcan..A, The Pell equation $x^2 - (k^2 - k)y^2 = 2^t$, World Academy of Science, Engineering and Technology, 19, 697-701, (2008).
-